EARAROBREBRT —5 XN—ZXBISH—F

20214698228 (K) 12@P93RI5H

Wl oO—S)LC (hRBE) HSHR2EZHZOP BRI
[xE<%] 1% :3,000,000 3 . 23&:840,000 . 33&:630,000  43&:420,000 3 . 5 3&:210,000 3
B RS RS R 1 BF (F8) g4 (BE) | BBIEGI | E3F |SIEH | AR | AE | BN i) / BE / £EWNS
= 2 | AtELE 1:42.7 7-7-5-3 | 39.1] - 2 498 | BHHES (ObmE)
11111 JRXERRSUS 4':' 54.0§ (=) +10) (B) i“wd‘b)‘;h“jf'—L\
R:O—IRAA XA B:ARXEU-TFUVT EvIUy RI7—L4
V& o 4% 2 | BEXK 1:42.7 1-1-1-1 [ 40.0| - 3 470 | HBHEE (timE)
EH 3 W— 4 R 54.0 N\F) +6) B) NvT—4ig
R:FI/IUVIVR B:ISvovaaS NYT—H5
. RE . 44 - BEPE= (LEs)
3lals TAYYITY 4 2 Feee 1'6133)'3 6-4-4-2 | 40.0 1 (4_9; Ber- &
R:N40 B:I—-YVINFFT RIS
e FAHH{th . A= — EAEME JmE)
4177 |B—0OFRF 44—/ 2R 1'?(;4)'5 e | 409 ° (ﬁg) RER—
R:Z2ROAVITUI—Y BISAYATYF BIEFHUS
= ~ 4 2 | BENEH 1:44.6 2-2-2-3 | 41.7| - 6 478 | /N\BHE (dLims)
5 4| PINLY 54.0 ) () | ML
RIIARIT—ILYF— B:ITIVIVIS N E8UE
= 8 2 | BREC 1:44.6 8-8-8-6 |40.7| — 8 44 |BPEZ JbisE)
ol 2| FTPIEX 5.0 F9) G WD
RIAAR—05Y B:N\YRSE—X A —a)
w3y g — 4t 2 | BRERESE 1:45.7 4-4-7-8 | 42.1| — 4 | 462 |BPEFE JLEE)
" - ABCPEESY 540 6 o | B mmEsms
RiFVyvB/FE+ B:I3FA—X54M4Y ERAKIES
P~ t 2 | AR 1:46.6 3-3-3-5 |43.4| - 7 502 | KIS doima)
8|5/5|7IVY ! 5.0 (@) 2 (ﬁ)ﬁd‘ay?—‘z—r—x“
RAX—R 773V B:SvF—/\ML EARES
@ 11— —BBIEfI
13—3F— 3,4,5,6,7,8,1,2
20— — 3,4,5,(6,7,8),1,2
Fol=7r= 3,4,5,8,1,7,6,2
43— — 3.,8,(1,4),5,2,7,6
o ILRE
B B 1 2604 JA R 1-3 190H B E 1-3 510M 3EE 1-3-8 430M4
7B B 1 100 1-8 1604 =51 1-3 950 3EH 1-3-8 1,720
3 110 3-8 200/
8 1004

ABIC OV TRUTEREERRODDZE. THRIIZEL.



